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General Instructions :

(i)
(i)

(iii)

(iv)

All questions are compulsory.

The questidn paper consists of 31 Questions divided into four sections A,
B, C and D. ' - '

Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

v

each and Section D contains 11 questions of 4 marks each.

o

Use of calculators is not permitted.
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SECTION A
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Question numbers 1 to 4 carry 1 mark each.

1.

30/1

& TR ¥, R a,, - a, =84 ¥, B A ST 1R 2

What is the common difference of an A.P. in which a5, —a, =842
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If the angle between two tangents drawn from an external point P to a
circle of radius a and centre 0, is 60°, then find the length of OP.

3t 30 . I+ s WA, iy w 103 . welt o s #, A g I
IV AT R 2

- If a tower 30 m high, casts a shadow 10+/3m long on the ground, then

what is the angle of elevation of the sun ?
Booﬁﬁ#@%ﬁﬁwwﬁawmwgmﬂaﬁﬁﬁﬁ

T 0-18 2 | @ H T2 gU A < e w0 R ?

The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?

s v .
SECTION B X

Question numbers 5 to 10 carry 2 marks each.

5.

30/1

p %1 98 WH FIA iy Rrads g e it px® - 14x + 8 = 0 91 & 4
EHETTE

Find the value of p, for which one root of the quadratic equation
px? — 14x + 8 = 0 is 6 times the other.
32t 20, 19%, 18%, 17%, ... 1 T VG Jo T WG % 2

Which term of the progression 20, 19:11-, 18%, 17%, ... is the first negative

term ?

3 P.T.O.

PR T
3 g

LMW! L I B ST 0 o e i s ot




\

b8
ot
L) 3

gf : \;\ Quest

8.

10.

11.

12..
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* terms is 400.
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Prove that the tangents drawn at the end points of a chord of a circle
make equal angles with the chord.

w v el T@IS ABCD 1wt = spomatt #t Tl et @ | firg Hifore 75
AB+CD=BC +DA

A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB+CD=BC +DA :

w Y@y T x-378 Hi seww: faga pad ngﬁ%@awﬁ% | afe
2, - 5), PQ ¥ wea-fog &, q Paen Q% Furieh T HIT |

A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, — 5) is the mid-point of PQ, then find the coordinates of P and Q.

afg P(x,-y)‘q?' A5, 1) @ B(- 1, 5) & gferl @ @, a’rﬁﬁg@ﬁm%

3x = 2y. :
If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then
that 3x=2y. =

prove

. @uEE
SECTION C
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ion numbers 11 to 20 carry 3 marks each.

2 ad = be 2, < firg frg 6 T -
b2)x2+2(ac+bd)x+(c:2+d2)=0_Wﬂ-ﬁ%mﬁlﬁﬁ'{c’l?ﬁ%l
the equation ; : i
+d?) =0 hasno real roots.

(a2 +
If ad = bc, then prove that
(a2 + b?) %2 + 2 (ac+ bd) x + (c?

T FHIH af,&aﬁruﬂﬂqas,aiﬁwuwm:aﬁ?mﬁqﬁmm;oo%i

20 TR a@_%qﬁ@ﬁwwqﬁ 3R T HINT |
The first term of an AP. is 5, the last term is 45 and the sum of all its .
Find the number of terms and the common difference of the

{175

AP.
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On a straight line passing through the foot of a tower, two points C and D
are at distances of 4 m and 16 m from the foot respectively. If the angles

of elevation from C and D of the top of the tower are complementary, then
find the height of the tower. ‘

14.  Th O F 15 T3 9 FB Fieh 18 § | AR A F F o e g Fepre H
il T T i P it sl A A T R, @ 9 el A A
e i A | : .
A bag contains 15 white and some black balls. If the probability of
drawing a black ball from the bag is thrice that of drawing a white ball,
find the number of black balls in the bag.

15.  fog [% y], fagail P2, —2) @1 Q@3, 7) ! fiem I Y@Es W fha
Irgara # faenfor @ 2 2 y & AW s 5@ AR |
In what ratio does the point (%, y) divide the line seg-;ment joining the

points P(2, — 2) and Q(3, 7) ? Also find the value of y.

16. aﬁmﬁﬁ,msﬂtﬁm%?ﬁqaﬁqﬂ, 4-5%%?@@3&11
45 Qi 3o 1 U 3Tig S TE ] | DRAIfER ST i &K 74 BT |

ﬁaﬁtﬁ—*@‘-ﬂtﬂ—r
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Three semicircles each of diameter 3 cm, a circle of diameter 4:5 cm and af
semicircle of radius 4-5 cm are drawn in the given figure. Find the area o
the shaded region. .

*Bm—%—?ﬂn}—*
17. & 7 sl #, O%ﬁaaﬁaﬁaqﬁﬁmmﬁtﬁammﬁ%l
- !r%/_fAOB 60° %, @rwﬁmmwwmaﬁﬁm

m?mﬁﬁm]

In the given figure, two conéentric circles with centre O have radii 21 cm
and 42 em. If Z AOB = 60°, find the area of the shaded region. ]
22

[Usen= 71

™

60°

A
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18.

19.

20.

5470, <) 3fk 1.8 . TEQ w Tee A U 25 Refl/aver A TG W 76 @@ |
T 40 Bz # e a6 e @ wed 2, IR fem % R 10 @
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Water in a canal, 54 m wide and 18 m deep, is flowing with a speed of
25 km/hour, How much area can it irrigate in 40 minutes, if 10 em of
standing water is required for irrigation ?

o i 3 o g e 4 2o e s i o 5 S 18300
ot 62t § | 50 oo o1 o Ud A A AR L

The slant height of a frustum of a cone is 4 cm and the perimeters of its
circular ends are 18 cm and 6 cm. Find the curved surface area of the

frustum.

@aﬁﬁ%%wzﬁﬁﬂ;ﬁ4-4ﬁ.-x2-ﬁﬁ.x1~0tﬁ.§ | 8 faererest
30 At sriafs Beer ot 5 At Hierd &1 T WrEen SerehR qIEd ST T
2 | urzy & T wa IR | - ;

The dimensions of a solid iron cuboid are 44 m x 2:6 m x 1-0 m. It is
melted and recast into a hollow cylindrical pipe of 30 cm inner radius and

thickness 5 cm. Find the length of the pipe.

@UE T
SECTION D

T GEgr 2] 931 dH TAF TH T4 R E |-

21.

. 301

Question numbers 21 to 31 éany 4 marks each.

?‘%%Qﬁiﬁﬁﬂ{: | |
_xil i 5x3+1 - x-5+4’ xerl, -%, -4

Solve for x : _ |
311 i 5x3+1 = xf_4‘, x#z-1, -%, )

el uy P.T..
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23.

25.
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13
3 hours more than the other to fill the tank, then how much time will

each tap take to fill the tank ?

ﬁamﬁ%ﬁ%mnqﬁ%wm?ﬁm@ﬁ(7n+l) (4ﬂ+27)%
@t 3% 93 we} 1 e W HR |

If the ratio of the sum of the first n terms of two APsis (7Tn+ 1) : (4n + 27),
then find the ratio of their 9t terms.

forg iR s % el e frg 2 i & e et o et

“HHH Bt 2 |

Prove that the lengths of two tangents drawn fmm an external pomt toa
circle are equal.

& T8 Il A, XY @91 XY, o%gméqaﬁﬁmmm%m@
a1 TRix@ AB, frewh i fig €, XYaﬁAamX’Y’a%Bmuﬁlﬁa
ﬁ?ﬁ%lﬁ@’?ﬁm%AAOB 90°.
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In the given figure, XY and X'Y' are two parallel tangents to a circle with
ceptre O and another tangent AB with point of contact C, is intersecting
XY at A and X'Y' at B. Prove that £ AOB = 90°.

X P ‘A Y

L —
T L

-

s i

e }.{! 0
26. T fiygst ABC it W g sl 9o BC = 79, £ B =45° £ A= 105°
B | o T 3 B 6 Te B Rt et A ABC i @i yerst
3 ' '
Eﬂ:ﬁﬁl
Construct a triangle ABC with side BC = 7 cm, £ B = 45° £ A = 105°.

Then construct another triangle whose sides are % times the

y
B

corresponding sides of the A ABC.

27. W gaT§ WEW oA & FR 300 . H F9E WIT W R | W 9 W I
T & T 35 2 P e e et i w2 fégal
¥ TG IV HAN: 45° 791 60° & | 7 Fi e wa Hifg | "

[V3 = 1-732 T IR | '
An aeroplane is flying at a height of 300 m above the ground. Flying at
this height, the angles of depression from the aeroplane of two points on

both banks of a river in oppesite directions are 45° and 60° respectively.
Find the width of the river. [Use V3 = 1-732]

08, af fig Ak + 1, 2K), B3k, 2k + 8) ¥&1 C(5k - 1, 5k) ¥@ &, /I k 1 7
1 I | |
If the points A(k + 1, 2k), B(3k, 2k + 3) and C(5k —1, 5k) are collinear,
then find the value of k.

30/ 9 P.T.O.
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(i) ToFRE @ A

. Al bility that the
Two different dice are thrown together. Find the probability

numbers obtained have
(1) even sum, and

(ii)  even product.

& 7 amFfi i, ABCD wh atmra & Rreet frd 21 4l x 14 30 & | BC @
S WA HTH g wfen & | angpfy # SEifRd 'tTWEﬁIWH&ﬂ
Wﬁ]ﬂﬁﬁﬂql '

A 21 At B

oz

14 8}

D -C

- In the given figure, ABCD is a rectangle of dimensions 21 em x 14 em, A
. semicircle is drawn with BC as diameter. Find the area and the

perimeter of the shaded region in the figure.

A 21 cm B

14 cm

10
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fordlt awi-star wwgw oA #, 22 4. « 20 ). ) Ta Q aul-ofc FERt 2 Hl. =R
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In a rain-water harvesting system, the rain-water from a roof of

22 m x 20 m drains into a cylindrical tank having diameter of base 2 m

and height 3-5 m. If the tank is full, find the rainfall in cm. Write your
views on water conservation. :
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